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   Bakery Bill               a) Copy the bill and complete the calculation. Don’t forget to
                                 include the correct operation sign. 
Cake      £6.87
Eclairs    £2.46            b) Milly gave the assistant one £10 note and one £2 coin.
Apple Pie £1.89                How much change did she receive?
           ______
Total



A. Copy and complete the following bills. Remember to write out the whole calculation.

1. a) 2 milk cartons  (85p each)                      b) 3kg onions (£0.95 per kilo)
2. a) 3 packs of potatoes (£1.69 per pack)     b) 2kg apples (£1.35 per kilo)
3. a) 2kg leeks (£2.35 per kilo)                      b) 5 loaves    (1.25 each)

4. a) 3 packs of prawns (£3.45 per pack)       b) 9 lollies     (£1.30 each)
5. a) 6 packs of tissues (£2.20 per pack)       b) 4 fish cakes (£3.05 each)
6. a) 7 tins of soup (£1.15 each)                     b) 3 bags of flour (£1.60 each)
7. a) 8 cans of orange juice (£0.79 each)       b) 5 cucumbers (£0.55 each)
8. a) 9 packets of crisps (£0.80 each)           b) 4 bananas (£0.25 each)
9. a) 6 packets of biscuits (£0.85 each)         b) 4 packs of cheese (£3.25 each)
10. a) 7 packs of cereal (1.65 each)                  b) 2kg butter (£2.10 per kilo)


B. Look at your answers for questions 1 – 3 in Part A.

You pay each bill with a £10 note. How much change will you receive?
You will have 6 answers. Remember to write each calculation in your jotter.


EXTENSION SECTION

C. Look at your answers for questions 4-10 in Part A.
 
        You pay each bill with a £20 note. How much change will you receive?
            You will have 14 answers. Remember to write each calculation in your jotter.




Answers will be posted at 3.00pm today.

 
